4329

Parts Breakdown

V/rled,dbds

"‘ﬂf/“’\/

| Q@«

&

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

Fig #

coooxlm—\)a_

10

12
12
13
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
1,001
1,002
1,003
1,004

/ |

b A A &

Part ID
664881-2
651286-5
233151-6
216008-6
961011-9
272239-7
188338-4
643552-4
643562-1
191956-9
194971-2
631265-9

210025-8
515716-9
241881-5
210005-4
152600-3
344683-9
344614-8
256254-9
153260-4
213038-8
313082-6
213038-8
344613-0
232183-0
922107-1
323748-0
416476-5
313140-8
313086-8
423307-1
344686-3
266177-3
257683-9
961002-0
416703-0
188338-4
633656-0
158392-2
256117-9
343540-8
317796-9
345441-6
912107-9
344685-5
922128-3
265995-6
266053-1
863970-2
682569-2
687123-7
265995-6
792529-790A
783201-2
824572-9
805796-6

Parts Breakdown

Part Name

CORD

SWITCH, BO5021

COMPRESSION SPRING 4, 4304T

STEEL BALL 4.0, 5007NK

STOP RING E-4, 4301BV

LEVER 18, 4324

HOUSING SET, 4329K

BRUSH HOLDER, BO5012K
BRUSH HOLDER 5X8, HP1351

CARBON BRUSH 75, JR3000V

CARBON BRUSH SET CB-75, JR3000V
CONTROLLER 100-120V, 4323

BALL BEARING 627LLB, 4324

ARMATURE ASS'Y 115V, 4329K

FAN 52, 6904VH

BALL BEARING 608DDW, 9031

BEARING CASE COMPLETE, 4324

PUSH PLATE, 4324

BALANCE PLATE, 4323

PIN 3, 4323

GEAR COMPLETE, 4324

O RING 5, 4323

SLIDER GUIDE, 4323

O RING 5, 4323

SLIDER, 4323

LEAF SPRING, 4324

H.S.H. BOLT M4X8, AF502

SAFETY WIRE, 4323

DUST COVER, 4323

BLADE CLAMP, 4329K

SLIDER SUPPORT, 4324

POLY URETHANE SPONGE SEAL, 4323

SEAL PLATE, 4324

HEX. SOCKET HEAD BOLT M3X10, 4323

COLLAR SLEEVE, 4323

RETAINING RING S-6, 6012HDW

DUST SEAL, 4324

HOUSING SET, 4329K

FIELD 115V, 4329K

RETAINER CPL., 4329K

PIN 4, 4324

HOLDER, 4320

BASE, 4329K

BASE PLATE, 4329K

C.S.H. SCREW M4X8, 5037NB

CLAMP COMPLETE, 4324

H.S. HEAD BOLT M4X16,4324

TAPPING SCREW 4X18, 4323K

P.T. SCREW 4X35, 4304

NAME PLATE, 4329K

CORD GUARD, 3709

STRAIN RELIEF, MT811K

TAPPING SCREW 4X18, 4323K

N/A

HEX WRENCH 3, AF501

PLASTIC TOOL CASE,4323K

MODEL NO. LABEL, 4329K

Page 2 of 2

Quantity

S A A A N A A O, A DN A naaoaaoaaomaeoaaoaaeoaaaiNDmaaeoaaeoaeoaeoaaeoaaeoaaeoaaeoaaeaaeaaeaaaeaaaaaaaaaNNNADA A A

4329

8/18/2010



